FOR OFFICIAL USE

KU EV
Total
0580/401
QUALIFICATIONS 9.00 aM 1000 an  CONTEMPORARY
2011 SOCIAL STUDIES
STANDARD GRADE

Foundation Level

Fill in these boxes and read what is printed below.

Full name of centre Town

Forename(s) Surname

Date of birth
Day Month Year Scottish candidate number Number of seat

1 All questions should be attempted.
Write your answers in the spaces provided in this book.

Answer in sentences wherever possible.

A WD

Before leaving the examination room you must give this book to the Invigilator. If you do
not, you may lose all the marks for this paper.

72
oo |NNARARRANRRY AN



THE ENVIRONMENT
1.  Look at the source below. It shows two ways of farming pigs.

Free Range pig farm

It is very :
cold and rainy ‘We enjoy
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plenty of room
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plenty to eat
in here.
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1. (continued)

(a) Using the source, give three reasons why some people think free-range is
a better way to keep pigs.

Reason 1

Reason 2

Reason 3

(b) Some farmers use chemicals on their farms.
From your own knowledge, give two reasons why they do this.

Choose from the list below. Put a tick (v') in the two correct boxes.

Tick (V) the two
correct boxes

Chemicals are expensive.

There is less chance of wildlife being harmed.

It’s easier to control pests.

Customers get cheaper food.

The food tastes better.

[Turn over
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2.  Look at the sources below. They give information about an island in Loch

Lomond.

Source A

An island in Loch Lomond National Park is home to a group of Australian
wallabies. They were put there in the 1930s by a local land-owner.

Source B

A Loch Lomond Park Ranger and local people are discussing what to do about
the wallabies.

They should
be removed. They are
not Scottish.

Tourists love
them. It would
harm my business if
they go.

The
wallabies
are damaging
the local

woodland.

They were
born on that island
and should be
left there.

The
National Park
has a duty to
make a

decision.

(a) From the sources, give one reason for, and one reason against removing
the wallabies from the National Park.

Reason for removing the wallabies

Reason against removing the wallabies
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2. (continued)

(b) From your own knowledge, give two examples of Scotland’s natural
heritage.

Choose from Dumbarton Castle, Ben Lomond, Loch Ness,
William Wallace, The World Pipe Band Championships.

Example 1 2

Example 2 2

[Turn over

[0580/401] Page five




Look at the diagrams below. They show changes to a building between 1980
and 2011.
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3. (continued)
(a) Describe three changes to the building between 1980 and 2011.
What it was like in 1980 Changes by 2011

Change 1

Change 2

Change 3

4

(b) From your own knowledge, give two reasons why fewer people go to the
cinema today.

Choose from the list below. Put a tick (v') in the two correct boxes.

Reasons Tick (V) if correct

More people watch films on DVD.

Cinemas are closed on Saturdays.

You can watch films on a computer.

Cinemas are cheaper than they used to be.

Films are of no interest to people today.

[Turn over
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INDUSTRIAL SOCIETY

4.  Look at the source below. It describes changes in Scottish industry.

Scotland used to invent many new things and more cheaply than
other countries. As factories became old-fashioned, other countries
made things more cheaply. Factories closed and many Scots became
unemployed.

Nowadays, many countries like China make new products and sell them
cheaply. People in Scotland keep foreign workers in jobs by buying the
cars and computers that they make. How can Scotland keep up?

(a) From the source, give a reason why many Scottish factories have closed.

Choose from the list below. Put a tick (v') in the correct box.

Scottish factories made things more cheaply.

Most people in Scotland now work in offices and shops.

Other countries can make things more cheaply.

There are a lot of people unemployed in Scotland.

(b) From the source, suggest what Scotland will have to do to keep up with
other countries.

Choose one answer from the list below. Put a tick (v') in the correct box.

Buy lots more foreign cars.

Make new products.

Close more factories.

Pay more benefits to the unemployed.
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4. (continued)

(¢) Most people in Scotland used to work in manufacturing. Now they work
in shops and offices.

From your own knowledge, choose the statement below which best
describes this change.

Put a tick (v') in the correct box.

It is a change from service industry to primary industry.

It is a change from primary industry to manufacturing.

It is a change from service industry to manufacturing.

It is a change from manufacturing to service industry.

(d) From your own knowledge, give an example of a Primary industry.

Choose one answer from the list below. Put a tick (v') in the correct box.

Coal mining

Shipbuilding

Computer software

Banking

[Turn over
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5.  Look at the source below. It shows people who live and work on Clydeside in
Glasgow.

Marks

I am a welder in one of
the two shipyards left on the Clyde.
We will finish one ship
this year.

Many
shipyard workers

buy their sandwiches
from me.

When I was young

there were many shipyards My flat
on the Clyde building is bui?:r on the
lots of ships. site of an old
shipyard.

(a) From the source, give two changes which have happened to shipyards on

the Clyde.

Change 1

Change 2
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5. (continued)

(b) Some industries in Scotland are growing.

From your own knowledge, give two reasons why new industries might
want to set up on Clydeside.

Choose from the list below. Put a tick (v') in the two correct boxes.

Wages are very high.

There are lots of skilled workers available.

Land is expensive.

Government grants attract new companies.

The weather is ideal for industry.

[Turn over
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6. Look at the source below. It gives information about the number of new cars

being sold in the UK.

Number
of cars in 2-4 1
millions

New car sales 2002 to 2007
26 1

2:5 1

2-3 1

22 T T T T T
2002 2003 2004 2005 2006 2007

(a) Using the source, complete the following sentences.

(b)

Circle the correct words in bold print.
From 2002 to 2007 the number of cars sold increased/decreased.

Between 2004 and 2005 the number of cars sold showed the biggest/
smallest decrease.

Most new cars were sold in 2003/2005.

Fewest new cars were sold in 2005/2006.

Car factory to close

From your own knowledge, give two ways this might affect the area near
the factory.

Choose from the list below. Put a tick (v') in the two correct boxes.

More workers will go abroad for their holidays.

More cars will be made in Spain.

Local shops will not sell as much as they did.

House prices will fall as people move away.

The price of petrol will rise.
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7. Look at the source below. It is about problems in looking after historic
buildings in Scotland.

Historic buildings
in Scotland attract many
tourists. These old buildings need
to be well looked after to keep them
safe and in good condition. For this we
need skilled stonemasons. However there /
are few people with the right skills and [\
there are no training courses. To solve
this problem, Historic Scotland is
setting up its own training
programme.

Statement by a manager at Historic Scotland

(a) Using information from the source:

(1) Give a reason why Historic Scotland needs to employ stonemasons.

Reason

(11) Give a reason why it is difficult for Historic Scotland to find
stonemasons.

Reason

(b) From your own knowledge, give two reasons why many young people do
some kind of training after they leave school.

Choose from the list below. Put a tick (v') in the two correct boxes.

Possible reasons Tick (V) if correct

Some people go to University.

Better chance of getting a good job.

They do not want a job.

Many jobs require qualifications.

T'raining can be expensive.
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SCOTTISH SOCIETY

8.  Look at the sources below. They give information about languages spoken in

Scottish schools.

Source A 'T'en most commonly-spoken languages in Scottish schools (apart
from English)

5000

4500 4+
4000
3500
3000 T
2500 17
2000 1
1500 77
1000 1
500 17

Number
of pupils

0

Source B

Some facts about pupils in Scottish schools in 2008

* English is the first language for 650,000 pupils.
* 4000 pupils do not speak any English at all.

[0580/401]

147 languages are spoken.
In one Glasgow secondary school 53 languages are used.
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8. (continued)

(a) Use information from the sources to complete the passage below. Circle
the correct words in bold print.

Apart from English, Polish/Urdu is the most commonly used language
in Scottish schools.

There are more/less Chinese speakers than there are French speakers.
Most/few pupils speak no English.
German/Arabic is used by more pupils than Gaelic.

(b) “Scotland is now a multi-cultural country.”

From your own knowledge, give two examples which suggest that the
statement above is true.

Choose from the list below. Put a tick (v') in the two correct boxes.

Chicken tikka masala is one of our favourite meals.

Many of the cars we buy are from Japan.

Spain is our most popular holiday destination.

Many people study French at night classes.

Councils print their forms in several languages.

[Turn over
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9. Look at the source below. It gives information about religion in Scotland.

Church membership (as percentage (%) of population)

1961 (estimates) 2001
Church of Scotland 47 42
Roman Catholic Church 18 16
Other Christian churches 8 7
Other religions 10 7
No religion 18 28

(a) Using the source, answer True or False to the statements below.

()

[0580/401]

Statement

True or False

The most popular church in Scotland today is the

Roman Catholic Church.

Christian churches are less important than they

were.

The Church of Scotland has lost fewest members.

In 2001 most people in Scotland belonged to a

religion.

“Many churches have closed because fewer people attend on a Sunday.”

From your own knowledge, give two reasons why fewer people go to

church on a Sunday.

Reason 1

Reason 2
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[Turn over for Question 10 on Page eighteen
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10. Look at the sources below. They show the results of a recent survey on what
people think about the Scottish Parliament.

Source A What Scottish people think about the Scottish Parliament

] believe the Scottish
| Parliament is a good thing

1 believe the Scottish
{1 Parliament is a bad thing

believe the Scottish
Parliament made no difference

Source B  How Scottish people think education has been affected by the
Scottish Parliament

~ . | think schools have
.. | improved

think schools could do
better

1 think standards are unchanged
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10. (continued)

(a) Using the sources, answer True or False to the statements below.

Statement True or False

Most people think that the Scottish Parliament is a
bad thing.

Most people have no opinion about the Scottish
parliament.

More than half think that school standards are
unchanged.

Few people think that schools could do better.

(b) The UK is a member of the European Union (EU). This can bring
advantages to the people of Scotland.

From your own knowledge, give two of these advantages.

Choose from the list below. Put a tick (v') in the two correct boxes.

Advantages Tick (V) if correct

Our beaches must be kept clean to meet European
standards.

People can drink as much wine as they like when on
holiday in Europe.

It makes it easy for Scots to live and work in Russia.

EU money helps to improve roads and bridges in some
parts of Scotland.

We can vote in French elections.

[END OF QUESTION PAPER]
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